Warm up exercise for “design task 3” - 
getting to grips with fminbnd
In “design task 3” you use the function fminbnd to solve the Whittle turbojet performance problem. A stumbling block for solving the task is the difficulties related to the use of this MATLAB built-in function. This warm up exercise is aimed at making sure that you understand how this function works before you start with the Whittle performance work
The solution of “design task 3” should be structured like the figure below: 
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Fig. 1 - structure of turbojet iteration method (compare with Fig. 8.6, page 385 in course book)
This structure is the same as in Fig. 8.6 at page 385 in the course book. Gasgen.m symbolizes Fig. 8.6a. You will use an inner fminbnd solver for this part. Turbojet.m symbolizes Fig. 8.6b which uses a second fminbnd function wrapped around the first one. These functions are already in your start-kit, thus you should be able to concentrate on programming the performance equations rather than to struggle with MATLAB issues. Follow the instructions in the “design task 3” specifications carefully as you solve the performance problem.
However, to understand how the start kit really works it is suggested that you try the following: Solve the following trivial equations using two nested fminbnd
c1*y + c2*x = rhs1
(outer equation – turbojet.m equations)
c3*x  = rhs2

(inner equation - gasgen.m equations)

where

c1 = 2.0, c2 = 4.0, c3 = 2.0
rhs1 = 7.0, rhs2 = 10.0
Make sure that the coefficients are sent through the interfaces. This is important to reduce the amount of errors that may be introduced when you work on the “design task 3” problem. Note that fminbnd are minimizers, and you need to use the absolute value on the residuals to ensure convergence. If you can not figure out how to do it, download the solution for the warm up task from the homepage.
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